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DU A P L 7
F1 BNBEREHER

A Ik (m) % (m) R (m) It (m) % (m) 1o B (m)
zxd—1 32,110 21. 300 3.870 32,058 21. 351 0.128
zxd—2 33. 400 30. 870 3. 860 33.313 30.913 0.155
zxd—3 26. 530 31.510 3. 840 26. 449 31.541 0.105
zxd—4 20. 840 32. 440 3. 840 20. 761 32.471 0.067
zxd—5 19. 540 20. 140 3.850 19.507 20. 156 0. 054
zxd—6 18. 160 10. 650 3.870 18. 144 10. 666 0. 065
2xd—7 25. 060 10. 100 3.900 25. 055 10. 143 0.121
zxd—8 30. 820 9.150 3.900 30. 800 9.195 0.148
W I B ] 2019/8/6 2019/8/22

2.2 T VBONET JFRDUFZ B EHIRY
# PR VB, NET %5 FF % th W0 45 e

PP 38 R DU DL ] A% 1R 000 s B R P 1L

Debug. WriteLine(str(n))
Loop
rdtxt. Close)

fif —f— 2t TE A RELXTFIHTREITTENRE arr_len = UBound(str) — LBound(str)
BT o X AT 30 Aok W A A PR A X O 5 A + 1
(TR R WP iR N TR R e o 179 R B =4 IR 52 B
BLRSA A 7 TAERCR A oAU T Dim m As Long & [F] 5 %
Public Class Form1 Dim k As Long
Private Sub Button4 Click (ByVal sender m =0
As System. Object, ByVal e As System. Even- k=0
tArgs) Handles Button4. Click Fori= 2 To arr_len — 1
Dim filpath As String If Len(str(i)) > 10 Then
Dim opfil_1 As New OpenFileDialog dataarr(m) = str(i)
opfil 1. ShowDialog() m=m + 1
filpath = opfil_1. FileName ReDim Preserve dataarr(m)
Dim rdtxt As 10. StreamReader = New End If
10. StreamReader ( filpath, System. Text. If Len(str(i)) = 10 Then
Encoding. Default) datearr(k) = str(i)
Dim str() As String, n As Integer = 1 k=k+1
Dim arr_len As Long ReDim Preserve datearr(k)
Dim dataarr(0) End If
Dim cord1() As String Next
Dim cord2() As String Fori=0Tom /2 — 1 fF Bt ASAH
Dim tmpstrl As String ReDim Preserve cordl(m / 2 — 1)
Dim tmpstr2 As String cordl (i) = dataarr(i)
Dim datearr(0) tmpstrl = tmpstrl & dataarr(i) &
Do Until rdtxt. EndOfStream Chr(13) + Chr(10)
n=n+1 Next

ReDim Preserve str(n)

str(n) = rdtxt. ReadLine

Fori=m /2 Tom — 1 fF R4 AZAH
ReDim Preserve cord2(m / 2 — 1)
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cord2(i — m / 2) = dataarr(i)
tmpstr2 = tmpstr2 & dataarr(i) &
Chr(13) + Chr(10)
Next
TextBox1. Text =
TextBox2. Text = tmpstr2
DateTimePickerl. Value = CDate(datearr

tmpstrl

0))

DateTimePicker2. Value = CDate(datearr
1)

TextBox10. Text = str(2)

TextBox5. Text = str(3)

Dim corl_spit(0 Tom /2 — 1, 0 To 3) *
Al 3 X AR HUE

Dim cor2_spit(0 Tom /2 — 1, 0 To 3)

Dim arrtmp(O)

Fori=0Tom /2 — 1

arrtmp = Split(cordl (i), ",")

corl_spit(i, 0) = arrtmp(0)
corl_spit(i, 1) = arrtmp(1)
corl_spit(i, 2) = arrtmp(2)

corl spit(i, 3) = arrtmp(3)
arrtmp = Split(cord2(i), ",")
cor2_spit(i, 0) = arrtmp(0)
cor2_spit(i, 1) = arrtmp(1)
cor2_spit(i, 2) = arrtmp(2)
cor2_spit(i, 3) = arrtmp(3)

Next
RS
Dim spO)

ReDim sp(m / 2 — 1)
Fori=0Tom /2 — 1
sp(i) = Math. Sqrt((CDbl(corl_spit
(i, 1)) — CDbl(cor2_spit(i, 1))) ~ 2 + (CDbl
(corl_spit(i, 2)) — CDbl(cor2_spit(i, 2))) =~ 2) ~

THE KL
Next
Dim cz()

ReDim cz(m / 2 — 1)
Fori=0Tom /2 — 1
cz(i) = CDbl(cor2 spit(i, 3)) —
CDbl(corl _spit(i, 3)) = H4E 3 B F
Next

THREALRE 7 A
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Dim jd(0, 1)

ReDim jd(m /2 — 1, 1)

Fori=0Tom /2 — 1
jdG, 0)
jd(i, 1) = fwj(corl spit(i, 1), corl

= corl_spit(i, 0)

_spit(i, 2), cor2_spit(i, 1), cor2_spit(i, 2))

A KL T LA
Next
FHATRR

Dim pjsp As Double

Dim ghsp As Double

Fori=0Tom /2 — 1
ghsp = ghsp + sp(D)

Next

pisp = ghsp / (m / 2)

SFY AL
Dim pjcz As Double
Dim ghcz As Double
Fori=0Tom /2 —1
ghcz = qghez + cz(D
Next
pjcz = ghez / (m / 2)
5 T R 2
Dim yjsp As String
Dim yjtmp As String
Dim yjtmpl As String
Dim yjcz As String
Dim yj As String
Dim jd1 As Double
Dim fxst As String
Fori=0Tom /2 — 1
"KL A
jdl = jdG, D
fxst = CStr(fxs(jd1))
If sp(i) > (80 / 1000) Then
yjitmp = corl_spit(i, 0) & " ST
KL B R B FEHIE 80 %0, 1" & fxst & "fiF" &
Math. Round (sp (i) * 1000, 1) & "mm, & Ik
oK
Elself sp(i) > (50 / 1000) Then
yitmp = corl_spit(i, 0) & " HIT
AKFRIAS A BB 509 19" & Fxst & "rkS" &
Math. Round (sp (i) * 1000, 1) & " mm, j#
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Elself sp(i) > (30 / 1000) Then

yjitmp = corl_spit(i, 0) & " HHIT
IR R 38 B FE HIE 3090, 11" & fxst & "fiE" &
Math. Round (sp (i) * 1000, 1) & "mm, & &
THZE."

Else

yitmp = corl_spit(i, 0) & " &HMiE
KA RS A B HE /N T 302, " & fxst & "
#" & Math. Round(sp(i) * 1000, 1) & "mm, IF
I

End If

visp = yjsp & yjtmp & Chr(13) +
Chr(10)

Select Case Math. Abs(cz(i) — pjcz)
Case Is > (75 / 1000)
If cz(i) — pjcz > 0 Then
yjitmpl = corl spit(i, 0) & "4
B I A RS ik B 4% I E 100%, FULE R &
Math. Round Cez (i) * 1000, 1) & "mm, ff 5
Tz "
Else
yjitmpl = corl_spit(i, 0) & "4
B T R AL RS 1k B 45 ) 1002, FULME R &
Math. Round (cz (i) * 1000, 1) & " mm, {5 Ik
THZ"
End If
Case Is > (50 / 1000)
If cz(i) — pjcz > 0 Then
yjtmpl = corl_spit(i, 0) & "8
Bif ST R 0 B 3R B I 7500, FULE A" &
Math. Round(cz(i) * 1000, 1) & "mm. /i 1H
THZ"
Else
yjitmpl = corl_spit(i, 0) & "
Bif i R 0 B iR BRI E 7500, FUUE A" &
Math. Round(ez(i) * 1000, 1) & "mm, &3 1k
Tz
End If
Case Is > (25 / 1000)
If cz(i) — pjcz > 0 Then
yjtmpl = corl_spit(i, 0) & "8
BiF 3T R O B8 35 B 4R I E 500, FUIE A" &

Math. Round(ez(i) * 1000, 1) & "mm, I i 15
Tz
Else
yjitmpl = corl_spit(i, 0) & "
Bif 3T 0 B8 G5 B 4 I 502, FUTME A" &
Math. Round(cz(i) * 1000, 1) & "mm, #IfF 1k
THZ "
End If
Case Else
If cz(i) — pjcz >= 0 Then
yjtmpl = corl spit(i, 0) & " &
Wil T e 07 RS 3k B HIE /N T 50% , FULE A" &
Math. Round(ez(i) * 1000, 1) & "mm, {58 18
THZ."
Else
yjtmpl = corl spit(i, 0) & "
BT 2 A RS ik B I E /N T 50%, FULE " &
Math. Round(cz(i) * 1000, 1) & "mm, # {5 1k
THZ"
End If
End Select
vicz = yjcz & yjtmpl & Chr(13) +
Chr(10)
Next
yj = " & ostr(2) & UL FULES
W 2E 3 . & Chr(13) + Chr(10) & yisp & yjez
TextBox11. Text = yj
AR
SBCA I K
Dim arrl () As String
ReDim arrl(m / 2 — 1)
Fori=0Tom /2 — 1
arrl (i) = corl_spit(i, 3)
Next
Dim arr2() As String
ReDim arr2(m / 2 — 1)
Fori=0Tom /2 — 1
arr2(i) = cor2_spit(i, 3)

Next

TextBox8. Text = (pjz Carrl) — pjz
(arr2) + TextBox5. Text) & "m"

TR KK e 22

TextBox4. Text = maxnum(sp) & "mm"

RIS PN R P
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Dim czpcO

ReDim czpe(m / 2 — 1)

Fori=0Tom /2 — 1
czpc(i) = cz(i) — pjcz

Next

TextBox3. Text = maxnum (czpe) & "

R LK
TextBox6. Text = pjcz / DateDiff ("d",
datearr(0) . datearr(1)) * (—1) * 1000 & "mm/
q"
TextBox5. Text = str(3) & "m"
MsgBox ("L H 222543 #r 56 He , 17 5 il 1
AR ST D
End Sub
Public Function pjz (ByVal sz ( ) As
String)
Dim wd As Long
Dim sum As Double
wd = UBound(sz)
sum = 0
ForI1 =1 To wd
sum = sum + sz(D
Next
pjz = sum / wd
End Function
Public Function maxnum(ByVal a())
Dim i As Integer
maxnum = CDbl(a(0))
Fori = 1 To UBound(a)
If a(i) > maxnum Then maxnum =
CDbl(a(i))
Next
End Function
Private Sub TextBox5 TextChanged(By-
Val sender As System. Object, ByVal e As
System. EventArgs) Handles TextBox5. Tex-
tChanged
End Sub
Private Sub Buttonl Click (ByVal sender
As System. Object, ByVal e As System. Even-
tArgs) Handles Buttonl. Click
Clipboard. SetText(TextBox11. Text)
End Sub

60

Public Function fwj(ByVal sx As Double,
ByVal sy As Double, ByVal ex As Double, ByVal
ey As Double) T+ M s Jr 60 A= 0B L 1
WM o 052 S ET A

On Error Resume Next

Dim dX As Double, dY As Double, a_t
As Double, pi As Double

pi = Math. Atan(1) * 4

dX = ex — sx

dY = ey — sy + 1.0E—20

a_ t = pi * (1 — Math. Sign(dY) /
2) — Math. Atan(dX / dY)

at=atx 180/ pi

fwj = a_t

End Function

Function ddms (ByVal X) “ & # ¥ 5 &
i

On Error Resume Next

Dim ai As Single, bi As Single. ci As Sin-
gle, ei As Single

Dim de As Double

de = Math. Abs(X)

ai = Int(de)
bi = (de — ai) * 60
bi = Int(bi)

ci = Math. Round (((de — ai) =*
60 — bi) * 60, 2)
If InStr(CStr(ci), ".") = 1 Then
ei = "0" & CStr(ci)
Else
ei = CStr(ci)
End If
If X << 0 Then
ddms = "—" & Format(ai, "000")
& " & Format(bi, "00") & " - " & Format(ei,
"00.00") & """
Else
ddms = Format(ai, "000") & "°" &
Format(bi, "00") & " - " & Format(ei, "00.00")
& n'n
End If
End Function
Function {xs(ByVal jds) As String
If Int (jds) > = 0 And Int (jds) <
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90 Then
fxs = "ZRILI7 A"
Elself Int(jds) > = 90 And Int(jds) <
180 Then
NN
Elself Int(jds) >= 180 And Int(jds) <<
270 Then

fxs =

fxs = "V Jy "
Elself Int(jds) >= 270 And Int(jds) <<
360 Then
fxs = "PHdtIrm"
End If
End Function
End Class
2.3 FH MATLAB #47 DR i
I H Bt T BRI 22 BE AT AT AL B
WE Ll Ak 19 43 By W, 2858 AL MATLAB
hold on J5 ¥ . plot J7ik Jfill J7i% . quiver Tik%GE4&
XU 2 25 B AT AT RAR 43 BT s A2 K P R

z BT 2) 3 O B 125 25 41 PR AR B T i 1) B SRR Al
BB K P AB R E RE

T

5 0 16 0 = an ECS a0

B2 MATLAB £ RRIKFLEH R E =B TH

[ %530k ]
[1] 4. MATLAB &%

H MATLAB i B AZ ARSI

[x,y]=meshgrid(13. 948:5:37. 959,3. 838:5;
37.959)

x1=[32.11,33.4.26.53,20. 84,19.54,18. 16,
25.06,30. 82]

yl=[21.3,30.87,31.51,32. 44,20. 14,10. 65,
10. 1,09, 15]

x2=[30.821,33.502,20. 696,18.015,30. 821

y2=[8.997,31.034,32.592,10. 554,8. 997 ]

dx=—1%1[0.052,0.087,0.081,0.079,0. 033,
0.016,0.005,0.020]

dy=—1%[—0.051,—0.043, —0. 031, — 0.
031,—0.016,—0.016,—0.043,—0. 045

s=1000 * [0. 073,0. 097,0. 087,0. 085,0. 037,
0.023,0.043,0.049]

hold on

plot(y2,x2)

fill(y1,x1,s,FaceColor,interp’)

quiver(yl,x1,dy,dx)

fori=1.8

text(y1(1) ,x1(1) [ num2str(s(i)), mm ])

end

hold off
3 g5

TE)RERIG LR TREDE ], VB. NET 45
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